®3x—5 @ x-1 ® 2x+1

@ x+4 ® 3x+5

3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)

BEQ A4 3x—5




2.

ax? + 40x + 16 ©] SAAFA o] 7] 918 a o] gL Fatolet,

> &

ax? 4+ 40x 4 16 = (+ax + 4)2 o]t}
40 =2X VJax4 °|B2 \a=5
Sa=25




b+ 3624w, el el

1 2
<2a+§b) =| la® +|

1\? 2 L,
2a + ib = 4a° + 2ab + Zb

S 4+2=6




9x* + Ax + 16 7} A FA] o] HEE g o, A O] 27

O 24 @ 12 @ =10 @ =12 @124

9x2 + Ax+ 16 = (3x £ 4)% = 9x? + 24x + 16
SLA=124




thE AL WESHE A% m,n O] ZELY

X%+ 6x+m= (x+n)?

@m:Q,n:B @ m=9,n=-3 ®m=9,n==6
@® m=3,n=3 ® m=3n=-3

X%+ 6x 7F A FA O] HHE 2* +6x+9 = (x+3)? °)|E=
m=9,n=3°|th.




4a® - 9b?
@ (2a+ 3b)(2a-b) @ (2a+ b)(2a - 3b)
@(2a + 3b)(2a — 3b) @ (4a+ 3b)(a - 3b)

® (2a+ 9b)(2a - b)

4a® — 9b* = (2a)? - (3b)? = (2a + 3b)(2a — 3b)




— (-5) X (-8) = (-2)x (20
= (-1) x (-40) = (-4) x (-10)

[l 892 4 e 4 -

—41, -22, -14, -13, 13, 14, 22, 41




A4 Bx+3=(x+C)(2x+1) L, A+ BC | gL Tatele}.

(x+C)(2x+1) =222+ x+2Cx + C
=Ax>+Bx+3

LA=2 C=3 B=14+2C=7

w2tA A + BC = 2 + 21 = 23 0|t}




TolRA xy+x+y+1 2 +x—xy—yo ZEOR Eo] 9
(?

@ y+1

® x+y

rr

w+x+y+1l=x(y+1)+@H+1)
=(x+1)(+1)

x2+x—xy—y:x(x+1)_y(x+1)
=(x+1)(x-y)




10. 3x-20°]3x* —ax+8 o] Q15 wf, ¢ o] FH= F+SHH?

@ 11 @ 12 ® 13 @14 ® 15

B

3x2 —ax+8 = (3x-2)(x+ p)
=3x2+3px—2x-2p
=3x2+ (Bp-2)x-2p

-2p =28, p=—-40°]1,
3p—2=—a, a=14 °|t}.




11. a?b+2ab-2a -4, 24> + 4a—2ab — 4bE °

PR
Q149

D a @ a+b @a—i—Z
@ a-b ® ab-2

B

tlo

o

a*b+2ab—2a-4 =ab(a+2)-2(a+2)
= (a+2)(ab-2)

2a® + 4a - 2ab — 4b = 2a(a+2) — 2b (a + 2)
=2(a+2)(a-b)

ro




12. e A5BaT Ao] $4 2L ALY

@ 25x% - 20xy + 4y? = (5x — 2y)?
(@)ax2 +2ax+a = (ax+1)?

1, 1 9 13
o do 2= (1es )
@9a+2a + 16 3a+4b

4 4 2\ 2
2 _ = i _Z
@ -zt (x 3)

® (xy)? 4 22xy + 112 = (xy + 11)?

@ ax® +2ax+a = a(x+1)?




13.

x ol tiek o] ZHA] (3x+2+a) (3x+ 2a—4) 7} SHAAFA 0] =
a 9 gZ Tkt

> E:

rr

ald




3] 57

14. 0<x<79 0, Vx2—16x+ 64— Vx2 + 10x + 25 = 71+
@—2x+3 @ 2x+1 ® -2x-5
@ 3x-1 ® -3x+1

&8

Va2 — 16x + 64 — Vx2 + 10x + 25
= J&-92- /x+5)?

— |x— 8 - x +5|




15. 3<x<-2dm ViZr6x+9-2Va2 +4dx+4+ Va2 & 73}

HY
O -2x-1 @)2x + 7 3 -1
@ 4x+7 ® 4x-1

D ‘
VE+3)2-2/x 2?2+ Va2

=|x+ 3| = 2|x+ 2| + |x]

=x+3+2x+4—x

=2x+7




16.

g o] Lol x 9l Azt 9] Wol

oA g Q] Bolb2 ol AL

wolg Witk oju], o] Wols 4}
Aoz bl o, Azge] N

7ol Al o) Zol g Fatolat,
> =

> =

D> HE x+2

> Heh: x-2

i

o] 2 W x2 — 40| B & (x + 2)(x—2)

=
T




= Al @ - 57 o] e Fefelh

1 1
= — = \/5—1,[7: =\/§+1
V2+1 V2-1

a’-b* = (a+b)(a-b)
=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2

a




18. X2 18x+ A= (x+4)(x-B) < 0, A, BO] g2 77} Lshodal,

> =
> £
> HE: A=-88
> HMEH B=22

x?—18x—88 = x? + (4 - B)x— 4B
4-B=-18, ©.B=22
. A=-4B = -88




19.

5x% + (2a—5)x—14 & AFEolotH (x-2)(5x+b) & ™, A5 a, b
o & at b o G Totolet

(x = 2)(5x + b) = 5x* 4 (b—10)x — 2b

5x2 + (2a—5)x — 14 = 5x% + (b — 10)x — 2b
2W=14=b=7,2a-5=b-101a=1
a+b=8




20. (3x—2y)(4x-3y) =ax? +bxy +cy* 4 W, a+ b+ c 9] F-S Tt

2},
» £
> ™eh: 1

(3x — 2y) (4x — 3y) = 12x2 — 17xy + 6y
“a+b+c=12-174+6=1




